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EXPONENTIAL AND LOGARITHMIC SERIES

lllustration

D. none of these

Answer: N/A
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I & Watch Video Solution

Tx + 3z
2.In the expansion of - the constant term is
e

A.O0
B.1

C.2

D. none of these

Answer: N/A

° Watch Video Solution
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C.e+

2¢/e

e—1

D.
2\/e

Answer: N/A

o Watch Video Solution

1 1 1

o1 :
4.The sum of the series ETREET] + YT a+....up to oo is

A.e_l/2

B.el/2

Answer: N/A

° Watch Video Solution



https://dl.doubtnut.com/l/_eG43FgixABiZ
https://dl.doubtnut.com/l/_iA7rbFcXurZi

4 8 16 »

is equal to
Ae?
B. €2

C.el/2

D. none of these

Answer: N/A

o Watch Video Solution

6. The coefficient of 210 in the series of 2% is

D. none of these


https://dl.doubtnut.com/l/_tOtZUbwU4ook
https://dl.doubtnut.com/l/_To0CZJIK1zTr

Answer: N/A

° Watch Video Solution

a+ bz

7. The coefficient of 2™ in the expansion of e in power of x is

D. none of these

Answer: N/A

° Watch Video Solution

1— 3z + z?
8. Cofficient of z* in the expansion of — s
e


https://dl.doubtnut.com/l/_To0CZJIK1zTr
https://dl.doubtnut.com/l/_4xhM3fjuGziN
https://dl.doubtnut.com/l/_LtZfZ4wQdFkQ
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Answer: N/A

° Watch Video Solution

1— az — z?
9. The coefficient of z* in the expansion of — s
e

A.(—1)ﬁ{—r +r(a+1) +1}
B(—l)%{—rQ—ra—i—l 1}
(—1)r'{—r2—r(a—l—1)+1}

D. none of these

Answer: N/A

o Watch Video Solution



https://dl.doubtnut.com/l/_LtZfZ4wQdFkQ
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https://dl.doubtnut.com/l/_xQsS18st9ixZ
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10. The coefficient of " in the expansion of atohwter

em

(—1)

A.

{en® — (b+¢)(n + a}

( _nll) {en® + (b+¢)(n + a}

{en® + (b+¢)(n — a}

(-1)"
n!

D. none of these

Answer: N/A

o Watch Video Solution

11. The coefficient of 2™ in the expansion of e” is
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D. none of these


https://dl.doubtnut.com/l/_xQsS18st9ixZ
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Answer: N/A

° Watch Video Solution

12. The sum of the series

1 2 3 4 .
F+_+§+_+ ..... to oo is

D. none of these

Answer: N/A

° Watch Video Solution

13. The sum of the series

1+22
TR TRREY


https://dl.doubtnut.com/l/_AgUjPpsuyOFT
https://dl.doubtnut.com/l/_zQVAe5sbj6at
https://dl.doubtnut.com/l/_5SK0NekiDwih

C.ze®* —1

D. none of these

Answer: N/A

o Watch Video Solution

14. The sum of the series

1?22 3

7 +_!+ §+ ...... toocois
A e
B. 2e
C.3e

D. none of these

Answer: N/A


https://dl.doubtnut.com/l/_5SK0NekiDwih
https://dl.doubtnut.com/l/_I3OcwlhtQYvQ

° Watch Video Solution

15. The sum of the series

22 , 3
x+§w +§m

4. toocois

Answer: N/A

° Watch Video Solution

16. The sum of the series
23 3 43

1+ — 3 —+.t i
+2!—|—3! —|—4! .toxIs

A. 2e


https://dl.doubtnut.com/l/_I3OcwlhtQYvQ
https://dl.doubtnut.com/l/_BAYHnwRDXUKz
https://dl.doubtnut.com/l/_hYChwUTYJqQf

B. 3e

C.4e

D. 5e

Answer: N/A

° Watch Video Solution

17. The sum of the series
23 3 43

2 3 4 .
—_— JR— R +
x+2!w +3!:c —|-4!CIZ ........ to oo Is

A. (33 + 22+ az3)em
B. (m2 + $3)6$

C. (m + 322 + :B?’)e:‘C

Answer: N/A

° Watch Video Solution



https://dl.doubtnut.com/l/_hYChwUTYJqQf
https://dl.doubtnut.com/l/_pnEoe9tnxPcI

18. The sum of the series

PR SR LR

1+ o+ + 5 + —+

2! 31 4! 5!

A. 12e

B. 5e

C. 14e

D. 15e

Answer: N/A

° Watch Video Solution

19. The sum of the series

24 34 44

4+ —z?+ 2 i

2! 3! 4!



https://dl.doubtnut.com/l/_pnEoe9tnxPcI
https://dl.doubtnut.com/l/_vSXZA2A3Tczn
https://dl.doubtnut.com/l/_Tq0NQ3cnarot

C. (33 + 722 + 623 + x4)em

D. none of these

Answer: N/A

o Watch Video Solution

27

16
20.Thevalueof 9 + — + — +

2! 3!

A.9e — 6

B.1le — 6

C.13¢e — 6

D.12¢ — 6

Answer: N/A

4!

° Watch Video Solution



https://dl.doubtnut.com/l/_Tq0NQ3cnarot
https://dl.doubtnut.com/l/_ZCAzSUQNVCvN

3 5
21. The value of 1— + —

A de + 3
B.4e — 3
C.3e—4

D.3e + 4

Answer: N/A

2'Jr

o Watch Video Solution

2 3 4
NI~ 22

2 3 ' 4

+to oo is equal to

Ae? —1

B.log. (1 + y)

Cx®=¢eY

+ e

to co =y, then y +

2

21

3

vy
o+ o+

3!



https://dl.doubtnut.com/l/_bMUKNWc5ODhR
https://dl.doubtnut.com/l/_lOvkX2fHKh90

D.z =1+ ¢€Y

Answer: N/A

° Watch Video Solution

23. The sum of the
a—2> 1/a—-0b 2 1/a—-250 3 .
+ — + — 4+ ....001Is
a 2 a 3 a
a
Al (—)
08, b

B. loga—b(a’)

C.logy(a)

D. loga— b(b)

Answer: N/A

series

° Watch Video Solution



https://dl.doubtnut.com/l/_lOvkX2fHKh90
https://dl.doubtnut.com/l/_0sqIdTXCzYQB

24 Prove that
xz+1 1 1 1
(log), = + 5 T =+
z (2z+1)  32c+1)° 52z +1)
lo
N g(z)
z+1
8 log(z + 1)
' x

C.log(2z + 1)

log(1
o og(1)
2¢ + 1

Answer: N/A

o Watch Video Solution

25.The sum of the infite series
1 2+ 1/1 4+ 1/1 6+ ,
— —[ = — =] +... is
3 3\3 5\ 3
A 11 2
.Zoge

B 1l 2
- 5 log,



https://dl.doubtnut.com/l/_vyK9f5OlliXQ
https://dl.doubtnut.com/l/_yjFNVFWNsW5h

Cll 2
-5 lo8

1 log, 3
D.Z 5

Answer: N/A

° Watch Video Solution

26. If a and [ are the roots of the equation z? — px + q¢ = 0 then the

2, 32 3., 33
value of (a + B)z — (#):ﬁ + (#)x:" + ... 1s

A log(l + pr + q:c2)
B. log(l + qr + p:z:2)
C. log(:t:2 + px + q)

D. none of these

Answer: N/A

o Watch Video Solution



https://dl.doubtnut.com/l/_yjFNVFWNsW5h
https://dl.doubtnut.com/l/_hUq1Dg2JPGKT
https://dl.doubtnut.com/l/_rhYhuztiYo0r

(y—l—é(y—1)2+§(y—1) ’

1 2 1 3
a—1-5(a—-1)"+3(a—1)

27.IfS =

.. Then S is equal to

A log, y

B.log,y

C.log. a

D.log,a

Answer: N/A

o Watch Video Solution

28. The coefficient of ™ in the exansion of log, (1 + 3z + 23:2) is

(Y

B. ﬁ(z’b +1)

27L+1

C.
n

D. none of these


https://dl.doubtnut.com/l/_rhYhuztiYo0r
https://dl.doubtnut.com/l/_55l3xbtb1VYM

Answer: N/A

° Watch Video Solution

29.If n is not a multiple of 3, then the coefficient of 2" in the expansion of

o . 1 2 1 2
loge(l—l—:v—l—w )ls:(A)—(B)—(C)——(D)——
n n n n
-2
A —
n
2
B. —
n
1
C. —
n

D. none of these

Answer: N/A

° Watch Video Solution

30. If n is not a multiple of 3, then the coefficient of ™ in the expansion

o . 1 2 1 2
ofloge(l—l—m+m )ls:(A) E(B)E(C)—;(D)—E


https://dl.doubtnut.com/l/_55l3xbtb1VYM
https://dl.doubtnut.com/l/_8Bx4E1YLc0SK
https://dl.doubtnut.com/l/_Ro9RX8ItksC8

D. none of these

Answer: N/A

o Watch Video Solution

0 1
31. —  isequalto
> ke

Answer: N/A

| o Watch Video Solution


https://dl.doubtnut.com/l/_Ro9RX8ItksC8
https://dl.doubtnut.com/l/_c5o8t45eTnbL

32.The sum of the series

1 1 1

193 " 345 " me7 P

1
A. loge 2 — 5

B.log, 2
1
C.log, 2 + 3

D.log. 2 +1

Answer: N/A

° Watch Video Solution

5
33.The sum of the series +

7

+

9

1.2.3

A.log(8/e)

B.log(e /8)

3.4.5

5.6.7

+ ..is equal to



https://dl.doubtnut.com/l/_c5o8t45eTnbL
https://dl.doubtnut.com/l/_Kudowjo0hgE3
https://dl.doubtnut.com/l/_FfKlsumYoqLV

C.log 8e

D.log 8

Answer: N/A

o Watch Video Solution

Section | Solved Mcgs

6 9
Lify = —{m3+x—+—+....}then

Cazd=e¥
D.z =1+ ¢€Y
Answer: N/A

° Watch Video Solution



https://dl.doubtnut.com/l/_FfKlsumYoqLV
https://dl.doubtnut.com/l/_E7TahJXJdcpS

1 1

2.—
T "

2n — 1
A.
2!

Answer: N/A

4!(n —4)!

+...to n terms is equal to

° Watch Video Solution

3. The sum of the series

D. 3e

s = ont—n+1 .

is
n!



https://dl.doubtnut.com/l/_E7TahJXJdcpS
https://dl.doubtnut.com/l/_a1dLYQcdGhgW
https://dl.doubtnut.com/l/_tLvo11U8pF0y

Answer: N/A

° Watch Video Solution

4 2 4 6 . I
.F—l—i—l—a—i—....oolsequa to

Answer: N/A

° Watch Video Solution

5. The coefficient of z'° in the expansion o f10% in ascending power of x is

(log, 10) 10

' 10!


https://dl.doubtnut.com/l/_tLvo11U8pF0y
https://dl.doubtnut.com/l/_FKAYHehgJbNw
https://dl.doubtnut.com/l/_UPjgUt8cmOdx

Bl
" 10

(10g10 3)10
C.C———
10!

D. none of these

Answer: N/A

o Watch Video Solution

et —1—=x

6. In the expansion of
x

term is

D. none of these

Answer: N/A

is ascending powers of x the fourth

° Watch Video Solution



https://dl.doubtnut.com/l/_UPjgUt8cmOdx
https://dl.doubtnut.com/l/_bIR73eb8nwY8

7.1n the expansion of log;((1 — ), |z| < 1 the coefficient of =" is

B. —

3|= 3|+~

log 10°

N
3|~

—

D. —log 10°
n 08

Answer: N/A

o Watch Video Solution

. 9 19 35
8. Sum of series — + — + —

T TIREEY
16e — 5 (D) none

A. 16e — b
B.7e — 3

C.12e — 5

i_f+... (A) Te — 3 (B) 126 — 5 (C)



https://dl.doubtnut.com/l/_bIR73eb8nwY8
https://dl.doubtnut.com/l/_H6ae6MVb1fqe
https://dl.doubtnut.com/l/_OXj9OJy9lf0P

D.1le — 5

Answer: N/A

° Watch Video Solution

3P -2
is

9. The constant term in the expansion of 5
x

A.log, 3

8. (log, 6) x {loge( )}
c. 308, x { (o) (5 )}

D. none of these

[\

Answer: N/A

o Watch Video Solution

2n

1057 ) 5

is equal to


https://dl.doubtnut.com/l/_OXj9OJy9lf0P
https://dl.doubtnut.com/l/_hDLEAreJZgeL
https://dl.doubtnut.com/l/_uK1i5uJ96DtO

D. none of these

Answer: N/A

o Watch Video Solution

11. Then sum of the series

113 13|15
’ T + LmZ 1+3+95+ 7az:3x+...is
2! 3! 4!

1+

A (z+ 1)e”
B.(z — 1)€”
CzeX +1

D.d + e*

Answer: N/A



https://dl.doubtnut.com/l/_uK1i5uJ96DtO
https://dl.doubtnut.com/l/_Rq3O6avI0zs2

o Watch Video Solution

12.

1
63:17

(ew + e5‘”) = ayp + a1z + asx® + ....... . = 2a1 + 2%as + 2%a5 + ......

Answer: N/A

o Watch Video Solution

3z z? ozt
18.Let S =z — 31 + H...andC =1- 1 + ZThen,

A.C? + S%is not independent of x

B. 2CS =sin 2x


https://dl.doubtnut.com/l/_Rq3O6avI0zs2
https://dl.doubtnut.com/l/_44Q6S4v0nbaZ
https://dl.doubtnut.com/l/_alsmIjOv3gPW

C.C? — §%is independent of x

D. none of these

Answer: a,b,c

o Watch Video Solution

) 2 4 6 )
14. The sum of series 30 + = + = F o, L.o0 s :

Answer: N/A

° Watch Video Solution



https://dl.doubtnut.com/l/_alsmIjOv3gPW
https://dl.doubtnut.com/l/_z0tQaITBguCS

15. The sum of the series S = X >° ,

Al/e

Answer: N/A

o Watch Video Solution

log.(3))°  (log.(3))°
16. The sum of the series log, (3) + (log. (3)) + (loe. (3))

3! 5!

A3

B.2

C.1

D.O


https://dl.doubtnut.com/l/_YxEAf7DwSFaS
https://dl.doubtnut.com/l/_EeBtD6eIv87l

Answer: N/A

° Watch Video Solution

17. The value of

(log, z)°
1+ (log, z) + 51 .00
A log, x
B. —log. x
C.2log, x
D. x
Answer: N/A
o Watch Video Solution
1+ 32 s 143 5
18. (1 + 3)log, 3 + 51 (log, 3)" + (log,3)" +....00 = (a)28

(b) 30 (c)25(d) O


https://dl.doubtnut.com/l/_EeBtD6eIv87l
https://dl.doubtnut.com/l/_8FIGuWlbIe14
https://dl.doubtnut.com/l/_RzRa35vxw2vo

A. 18

B. 28

C.36

D. none of these

Answer: N/A

o Watch Video Solution

19.1fa > 0 and = € R, then

2 3

1+ (zlog,a) + %(loge a)2 + %(loge a)3 + .... 0 is equal to
A a
B.a”
C.al%%:
D. x

Answer: N/A



https://dl.doubtnut.com/l/_RzRa35vxw2vo
https://dl.doubtnut.com/l/_xzaaAv7vEff1

° Watch Video Solution

2
20. — +

244 24446
+4 244+

21 3! 4!

Ae—2

B.e —1

Answer: N/A

+ .... 00 is equal to

° Watch Video Solution

2.1 2z 32 423
S TE TR TR

A e
B.(z + 1)e”

C.ze

.. 00 is equal to



https://dl.doubtnut.com/l/_xzaaAv7vEff1
https://dl.doubtnut.com/l/_djx3tZ1vdgtC
https://dl.doubtnut.com/l/_Ddl6au2qWXot

D.(x +1)e ™ ®

Answer: N/A

° Watch Video Solution

» (L.} 11 .1 11,
"2\2 "3) 492 32 69

A.log, 2
B.log, 3
C.log, /2

D.log, /3

Answer: N/A

1

rolts

...00 is equal to

o Watch Video Solution



https://dl.doubtnut.com/l/_Ddl6au2qWXot
https://dl.doubtnut.com/l/_HuW10ks9w8W8

23. The sum of series

(1> 12+ 22

2 2 2 !
21 T 23 + (12422 4+3Y) /(34 +.. +

is equals to

A. 62

1 N2
B.E(e—l—e )

c 3e —1
6

D. 40

Answer: N/A

12422+ ... +n?

n.(n + 1)

o Watch Video Solution

1 1 1
24.The sum of the series — —|— — + — 4.
4! 6!
e? — 2
e
(e — 1)°
2e
e? —1
2e

A.

B.

. — 00is


https://dl.doubtnut.com/l/_62jL6jJ0H0bA
https://dl.doubtnut.com/l/_o0H75g8q4OCG

e2 — 1

Answer: N/A

° Watch Video Solution

25.1f0 < y < 2/% and z(y* — 1) = 1 then

2,2 2
z  3¢3  5zd

Answer: N/A

° Watch Video Solution



https://dl.doubtnut.com/l/_o0H75g8q4OCG
https://dl.doubtnut.com/l/_m2P0StqRhSVL

26. The sum of the series

1 142 142+3
n T3 T 4 +

. — oo is equal to

Ao w|lo o

ol ®

Answer: N/A

o Watch Video Solution

Section li Assertion Reason Type

1. Statement -1: The sum of the series

—+t =+ =4+ —=4+.. > x0ise

Statement 2: The sum of the seies

ﬁm—i_ﬁx —|—§x —|—E33 — oo1szxe


https://dl.doubtnut.com/l/_xoSFIJMKnA93
https://dl.doubtnut.com/l/_JbqtvIOOUEi2

A1l

B.2

C.3

D.4

Answer: N/A

o Watch Video Solution

2. Let x and a be positive real numbers

Statement 1: The sum of theries

(log, z)*  (log, z)°
21 3!

1+ + (log, z)* + ... = ooisz

Statement2: The sum of the series

2
2 3 (log, a)®
1+($10gea)+%(logex)> —{-%%4_ 3 00isa®

Al

B.2


https://dl.doubtnut.com/l/_JbqtvIOOUEi2
https://dl.doubtnut.com/l/_gVfS57fz0VRK

C.3

D.4

Answer: N/A

o Watch Video Solution

3n $3n—2
— 00 _ o]
3.Leta = En:()@!, b=3%>", CT— 'and
dn—1
C=X>, CT— 'and w be a complex cube root of unity
Statement 1: a+tb+c

= ¢e% a+ bw + cw? = “* and a+bw?+cw=e”
Statement 2: a® + b®> + C3 — 3abc = 1

A1

B.2

C.3

D.4


https://dl.doubtnut.com/l/_gVfS57fz0VRK
https://dl.doubtnut.com/l/_TmefYd4an5a3

Answer: N/A

° Watch Video Solution

4.Let n be a natureal numberand 0 < z < 1

. . log(1) 1 .
Statement 1: The coefficient of £ € ——————7s— when n is not a
1+z+22 n
multiple of 3
. . log(1) 1 .
Statement 2: The coefficient of 2" & 18— when n is an

l—z+a2—23 n

odd natural number

Al

B.2

C.3

D.4

Answer: N/A

° Watch Video Solution



https://dl.doubtnut.com/l/_TmefYd4an5a3
https://dl.doubtnut.com/l/_z5y3YfjO3Ut4
https://dl.doubtnut.com/l/_O9LDYdCUjYRo

5.Statement 1: I
log(l —z + 5132) = a1z + a2z>? + asz® + . .

2
thenas +ag +ag +.. = 510g62
1
Statement 2: 1 — — +

1 1
2 3 4

6

1
—f—g— —|—..:10g62
A1
B.2

C.3

D.4

Answer: N/A

° Watch Video Solution

1. The value of y/c rounded off of three decimal places is


https://dl.doubtnut.com/l/_O9LDYdCUjYRo
https://dl.doubtnut.com/l/_Uxj7TfCnVEKh

A. 1.648

B. 1.65

C.1.652

D. none of these

Answer: a

o Watch Video Solution

2.The sum of the series

1+a 1+ a+ a? 1+a+a2—|—a3+

1+ Y + 31 + e is
Ae“ e
"a—1
Be“—e
"a+1
C62a+1
Ta—1
e +e
D.
a—1

Answer: a



https://dl.doubtnut.com/l/_Uxj7TfCnVEKh
https://dl.doubtnut.com/l/_ClSgz3aeBiyU

° Watch Video Solution

R 2n
3.The sum of the series E S s
= (2n +1)!

C.2e

D.2¢ !

Answer: b

° Watch Video Solution

4.The value of log, e — logg e + logy; e — logg; e + ..

A. 10g2 3

B.log; 2

.00 is



https://dl.doubtnut.com/l/_ClSgz3aeBiyU
https://dl.doubtnut.com/l/_WwLnR9JzxHs4
https://dl.doubtnut.com/l/_ZcUcAtrAEROc

C.logjp e

D.log, 2

Answer: b

o Watch Video Solution

.4 11 22
5.The sum of the series — + — + —
1! 2! 3!

A. 6e
B. 6e
C.6e —1

D. be

Answer: ¢

37
41

96

ﬁ+..

is

° Watch Video Solution



https://dl.doubtnut.com/l/_ZcUcAtrAEROc
https://dl.doubtnut.com/l/_SffBQVKc6xmR

. 2zt
6. The expansion of (1 + T + T
$2 $4 ZE6
2%2 24304
B.1-+ o1 + 1l
1+ 272 n 2zt n 2° 15
) 2! z = 4! 6!

D. none of these

Answer: ¢

2
) in ascending powers of x is

° View Text Solution

22 gt 2
7. The coefficent of " in the expansion of (1 + o7 + Z +. )

When n is odd is



https://dl.doubtnut.com/l/_BCjDW6iyXIE2
https://dl.doubtnut.com/l/_VCMhZ6QZN58J

Answer: b

° View Text Solution

8 If a,8 are the roots of the equation az® + bz +c =0 then

log(a — bzr + cm2) is equal to

2 1 3., 33
+ +
Aloga + (a + B)z + c 5 b 2?4 2 3 b z3+..

o? + B2 a3 + 83
P CIZ2+ p x>
2 3
o2 + Bl a3 + 83
C.loga — (a + B)z — 5 5 z? — 3 b z3+..

B.loga + (a + B)z +

+..

D. none of these

Answer: ¢

° Watch Video Solution



https://dl.doubtnut.com/l/_VCMhZ6QZN58J
https://dl.doubtnut.com/l/_ZuWBlQUXlhsV

9. The sum of the series

1+2 142422

L+ —r + =3 +(1+2+224+2%)+0s
A. e’
B.e’ +e
Cel—e
D.e? —e—1
Answer: c

° Watch Video Solution

10. The sum of the series

2 | 92 2 2 2
1+1+2 1" +27+3

12_|_22_|_32+42

2! * 3!

4!

+..1s



https://dl.doubtnut.com/l/_dggXKEvKCk2x
https://dl.doubtnut.com/l/_5dFDdwaErJQJ

Answer: ¢

° View Text Solution

11. The coefficent of 2" in the series

a -+ bx

(a + b:r:)2

(a + b:c)3

1+ 1

Answer: a

2!

3!

+..

.is

° Watch Video Solution



https://dl.doubtnut.com/l/_5dFDdwaErJQJ
https://dl.doubtnut.com/l/_f3z1svw4g9kM

1222 2237 3247
12. The sum of the series 1 + o0 + 30 +.. s

A.27e

B. 24e

C. 28e

D. 25e

Answer: a

° Watch Video Solution

13. The value
1 9 9 1
(z +y)(z — ) +g(w+y)(fv—y)(w + %) + 37
Lis:
Ae® — eV
B. %’ + eV’

of

(z +y)(z —y)(z* +;


https://dl.doubtnut.com/l/_go3d4IXko7jh
https://dl.doubtnut.com/l/_HSs5L1XAF7h7

D.e* + (y2)

Answer: b

° Watch Video Solution

14.1f e = y + 4/1 + y® then the value of y is

1 T —x
B.E(e —e )
Ce®+e ”®

Answer: d

o Watch Video Solution



https://dl.doubtnut.com/l/_HSs5L1XAF7h7
https://dl.doubtnut.com/l/_znJ1AWwQuKXb

65:c T

15.1f ————is expand in a series of ascending powers of x and n is and
e

odd natural number then the coefficent of " is

211

n!

2n +1
2n

22”
c.—!
2n

A

D. none of these

Answer: d

o Watch Video Solution

: e’ + &% .
16. In the expansion of e the constant term is
(4 +(1-2)"
n!
; 4"~ 4 (2n)
' n!

C(M—441—m)’

A.

n!



https://dl.doubtnut.com/l/_k0EjXamJo9fj
https://dl.doubtnut.com/l/_xPsXZS4usMvH

D. none of these

Answer: b

° Watch Video Solution

17 The value of
Vv2—-1 2 V2—-17 2
L3 9Y2 s - 12Y 4 tad
/2 1 6 16

A.log, 2

B.log, /2

C.log. 3

D.log, /3

Answer: a

° View Text Solution



https://dl.doubtnut.com/l/_xPsXZS4usMvH
https://dl.doubtnut.com/l/_U5A42qlSAs94
https://dl.doubtnut.com/l/_6HJsBhGwal5d

1 1 1
18.Ify:2a:2—1then§—|— pyy —l—% + ...00 equals to

Answer: b

o Watch Video Solution

37172
19.1f S = £% ,"C,

' then S equals
n

A.e?’/2


https://dl.doubtnut.com/l/_6HJsBhGwal5d
https://dl.doubtnut.com/l/_msQS8OqtxBdd

Answer: a

° Watch Video Solution

x

20. I

T2 = By + Byz + Box® + ... + B,z" + ..., then the value of

Bn — Bn—l is

Answer: d

° Watch Video Solution

nCO_|_n01 +n02+.. + "C.

21LIfS = 72 P = then S equals
n



https://dl.doubtnut.com/l/_msQS8OqtxBdd
https://dl.doubtnut.com/l/_uvdEpPZNr9F5
https://dl.doubtnut.com/l/_9HexTXa7wRHf

A.2e

B.2¢ — 1

C.2e+1

D. none of these

Answer: d

o Watch Video Solution

22.1fS=%2, nnizl ! then S equals
Ae—2
B.e +2
C. 2

D. none of these

Answer: b

° View Text Solution



https://dl.doubtnut.com/l/_9HexTXa7wRHf
https://dl.doubtnut.com/l/_wIFYLsAN20WH

23 1 1.3 1.3.5
T1.2 + 1.2.3.4 + 1.2.3.4.5.6

Ae—1
B.el/2 _ 1
C.el/2—|—e

D. none of these

Answer: d

4+ ... 00

° Watch Video Solution

24.Th f th 1 +28+50+
esumo e series 21 31 1l
A e
B. 3e

C.4e

78
51

_|_



https://dl.doubtnut.com/l/_wIFYLsAN20WH
https://dl.doubtnut.com/l/_h72FCfhQbOX3
https://dl.doubtnut.com/l/_zxKh1tEurg2c

D. 5e

Answer: a

° View Text Solution

o0 —

25.Ifa = Z (3n Z: (3n—2)'

n=0

then the value of a® + b® + C® — 3abcis

Al

B.O

Answer: a

X

3n —1)!

° Watch Video Solution



https://dl.doubtnut.com/l/_zxKh1tEurg2c
https://dl.doubtnut.com/l/_JzTN9yGafMlO

26. If S,, denotes the sum of the products of the products of the first n

S,
natureal number taken two at a time then E:f’zoﬁ equals
n !

A 1le
24

B 1le
T 12

c 13e
24

D. none of these

Answer: b

° View Text Solution

(log, )"

2.5 —=
n.:

is equals to

A log, x
B.z

C.log, e


https://dl.doubtnut.com/l/_3eBTTQFo18Mm
https://dl.doubtnut.com/l/_5wr4PYev388P

D. none of these

Answer: b

° Watch Video Solution

2n o 2n
28.Ifa = X, ,b=% (n=1)" —— then ab equals
2n — 1! 2n + 1!
A1l
B.e2
c e—1
“e+1
b e+1
e—1
Answer: a

o View Text Solution



https://dl.doubtnut.com/l/_5wr4PYev388P
https://dl.doubtnut.com/l/_UVUyw2FIw5NJ

29. The value of

a’z? a*z? 2 adz? adz® a’z®
1+ + + ... — | ax + + (ax + + +..

2! 4! 3! 3! 5!

C.0

D.1

Answer: d

o View Text Solution

1’.(2) 223 324 n?. (n+ 1)
lim S, is equal to
n— oo
A. 3e

B. 5e


https://dl.doubtnut.com/l/_lZwj4383T9tf
https://dl.doubtnut.com/l/_ThPfc8o9EjIw

C.7e

D. %e

Answer: c

o View Text Solution

IS = £ (logz)™ then S equal
. = Zn=0""9 ,then S equals
A.a:—i—x_l
B.x—az_1

1
C.E(:L'—Hvl)

D. none of these

Answer: ¢

° Watch Video Solution



https://dl.doubtnut.com/l/_ThPfc8o9EjIw
https://dl.doubtnut.com/l/_WkT76t8ZF1pD

3 5 3 5
) Y T T
32.1f — +—+...00=2 — + —+.. ,th
Y+ 3 + 5 +...00 (m—l— 3 + 5 + oo) en
A. y=2x
B.log y=2 log x

C.x2y:2az—y

D. none of these

Answer: ¢

o Watch Video Solution

33.The value oflog2 + 2( = + ~. = + = 20 4 4 o0)i
.The value of log sty e T oo | is
A.log2+log3
B.log 2+2
C 11 2
-5 log

D.log 3


https://dl.doubtnut.com/l/_JHoaJYKdUTWN
https://dl.doubtnut.com/l/_8yXREuHJHcrK

Answer: d

° Watch Video Solution

) 1 1 1 1 )
34.The sum of the series — + — + ..is

1.2 2.3 3.4 4.5
4
A. lOge <;)
4

B. —
e
C. loge(z)
b e
"4
Answer: b
° Watch Video Solution
(z—1) z—1)*

35.¢(2-1) —5(e—1)"+ e is eqaul to



https://dl.doubtnut.com/l/_8yXREuHJHcrK
https://dl.doubtnut.com/l/_dZVfJah80m0J
https://dl.doubtnut.com/l/_KdFbmq3KKFva

B.logx

C.x

D. none of these

Answer: ¢

° Watch Video Solution

3 5
m—n 1/m—n 1/m—n .
36.2{m+n +§<m+n> +§<m—|—n) +..} is equals to
m
Al (_)
og( —
n
B.1 (_)
og( —

C. log(%)

D. none of these

Answer: a

° Watch Video Solution



https://dl.doubtnut.com/l/_KdFbmq3KKFva
https://dl.doubtnut.com/l/_Y1Q6O4zI0C2Y

37.1og, 2 — logg 2 + logg2 — .... . 00

Ae 2

B.log, 2 + 1

C.log, 3 — 2

D.1 — log, 2

Answer: d

o Watch Video Solution

Chapter Test

1. The series expansion of log{(l + :1:)1“3(1 _ m)lfa:} i

2132 5134 2136
A'2{ 12 734 ' 56 +"}

.’132 $4 136
B'{1.2 327 56 +"}

€E2 $4 226
C‘z{ 12 23" 34 +"}



https://dl.doubtnut.com/l/_XoVb2cdi0U6f
https://dl.doubtnut.com/l/_8LqsvbH8esIc

D. none of these

Answer: a

° Watch Video Solution

2.2log x-log(x+1)-log(x-1) is equals to

Answer: b

° Watch Video Solution



https://dl.doubtnut.com/l/_8LqsvbH8esIc
https://dl.doubtnut.com/l/_9vsULTDDM1BX

3. The coefficient of ™ in the expansion of

log, (1)

N T 3Whennisoddis
+z+=x x

A

3|

Sl 3| -

Answer: b

o View Text Solution

4.If x # 0then the sum of the series

1L 212 3_:33 _
+§+?+ 10 +.. > IS
e +1
T

5 e’ (x — 1))
T

efle —1)+1
c ( )
T

A



https://dl.doubtnut.com/l/_9tj6ScaiJ23w
https://dl.doubtnut.com/l/_BXN4L8lSIGrO

D. none of these

Answer: d

° Watch Video Solution

5. If log(l —z + a:2) = a1z + a2x2) + asz? + asz3+.and n is not a

mutiple of 3 then a,, is equal to

( . 1)n—1

C.

(,wn + w2n)

Answer: b

° View Text Solution



https://dl.doubtnut.com/l/_BXN4L8lSIGrO
https://dl.doubtnut.com/l/_JOZdPPVPbKRo

6.If|og(1 —z + m2) = a1z + asx® + asx® + ...

then ag + ag + a9 + .. is equal to

A.log 2

B21 2
-5 log

Cll 2
- glog

D.2log 2

Answer: b

° Watch Video Solution

7. The coefficient of 2" in the expansion of log,(1 + z) is

n—1
—1
LD
n
(_ 1)n—1
B. ———1
- og,e
n—1
-1
C. Llogea


https://dl.doubtnut.com/l/_Y1yLSpPFw8B7
https://dl.doubtnut.com/l/_UptyT9mUc7T3

n—1

D. —

log, e

Answer: b

° Watch Video Solution

8. The coeffiecent of n ™" in the expansion of log, (%) is

1
A ——
rlog, 10
1
B.— —
rlog, 10
1
C——
r!log, 10
n
log,

D.log, 1 — (1)

Answer: a

° View Text Solution



https://dl.doubtnut.com/l/_UptyT9mUc7T3
https://dl.doubtnut.com/l/_OUWy1GlNxRRo

9. The sum of the series

ﬂE_l%—l 2”1 +..is equal to
ENECESER ==
Alog, z
B.2log, =

C.—log (z + 1)

D. none of these

Answer: a

o View Text Solution

10. The sum of series 2[7_1 +37 17345l ] is

A lo 4
.log, 3
3
B.log, <Z)
c.21 3
.2log, 1


https://dl.doubtnut.com/l/_ywWo32jqtohn
https://dl.doubtnut.com/l/_FTjS2WFEuO9O

4
D. 2loge<§>

Answer: a

° Watch Video Solution

11. The coefficient of 2% in the expansion of

1og{(1 L) T - 2) s

Answer: a

° Watch Video Solution



https://dl.doubtnut.com/l/_FTjS2WFEuO9O
https://dl.doubtnut.com/l/_d2MSEGNmr94T

1 2 3 4
12. The sum of the series 5322 + §x3 + Zm4 + gx‘r’ + ..is:

Z
A —— + log(1
Trg 'l o)

T 4 log(1 — z)

"1—=z

x
—— +log(1
C 1+x+0g( + x)

D. none of these

Answer: b

o Watch Video Solution

13.If z, y, z are three consecutive positive integers and X — Z 4+ 2 = 0,

1 1 1 1/ 1 Y ,
then Eloge x + Eloge z+ a1 + s\t + ....is equal to
A.log, x
B.log, y

C.log, 2


https://dl.doubtnut.com/l/_Igy8sRnYU5DT
https://dl.doubtnut.com/l/_79j1oziv29sa

D. none of these

Answer: b

° Watch Video Solution

4T the seri (12 223 324 425
.The sum of the series 1 + Y + 30 a0

A. 5e

B. 3e

C.7e

D. 2e

Answer: ¢

o Watch Video Solution

log. 2)* log 2)*
15.Theva|ueof1—loge2+( ie') —( ie') +..is



https://dl.doubtnut.com/l/_79j1oziv29sa
https://dl.doubtnut.com/l/_Wia0VANXv1pn
https://dl.doubtnut.com/l/_omxYiHnIasZy

C.log. 3

D. none of these

Answer: b

° Watch Video Solution

6.1 oee n)®  (log,n)*

2! 4!

e +e "

Answer: c

I ° Watch Video Solution


https://dl.doubtnut.com/l/_omxYiHnIasZy
https://dl.doubtnut.com/l/_GKxEaj7fhFLM

17. 2 1 0 i I
.§+ﬁ+ﬁ+..lsequa to

A.el/2
B.e !
C.e

D.e_l/3

Answer: b

° Watch Video Solution

1 1 1
18. Sum of n terms of the series 1934 + 5345 + 3456 4+ ...

A llog 2 — i

6 ¢ 24
B. E — log_2

2 e
C. i — log_ 2

2 e


https://dl.doubtnut.com/l/_GKxEaj7fhFLM
https://dl.doubtnut.com/l/_rW5fmqdvwnkY
https://dl.doubtnut.com/l/_XnHtsCuq6y93

D. none of these

Answer: a

° Watch Video Solution

19. The value of

(log,z)*  (log, z)°

1+ (log, ) + 5] Y

C.log, 3

D. none of these

Answer: a

° Watch Video Solution



https://dl.doubtnut.com/l/_XnHtsCuq6y93
https://dl.doubtnut.com/l/_BydxR6iLZCf9

20. If |z| <1 then the coefficient of z* in the expansion of

log(l +x + :B2) is ascending power of x is

Answer: ¢

° Watch Video Solution



https://dl.doubtnut.com/l/_cD6JVjAKTyrQ

